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1. Read the given passage carefully:                                                                                      

Manufacturers are currently competing with each other to produce a form of green packaging. Packaging is an important part of marketing these days, but much of it is a threat to the environment as the production of such packaging uses up a great deal of energy and the cartons, wrappers, etc are often difficult to dispose.

People in most countries have become aware of the damage which modern living is doing to the environment, and many of them are concerning themselves with the conservation of the environment for future generations. Thus, both politicians and scientists are now looking at the issues of energy-saving and waste disposal with a view to making them more environmentally- friendly.

As far as packaging is concerned, it is vital that it is either recyclable or biodegradable. For example, instead of throwing out newspapers and glass bottles with their household rubbish, people in several countries are being encouraged to put these in special containers to allow the material to be recycled. Some household waste, such as vegetable peelings, is naturally biodegradable and so decomposes gradually until it disappears.

Man-made goods are not so easily disposed of. Goods and packaging made of plastic create waste material that is particularly difficult to get rid of. This means that huge landfill sites have to be dug out so as to bury the plastic waste underground, possibly causing problems for future generations.

The high standard of living, which the people of many countries now enjoy, has resulted in a huge increase in waste material. This could have a terrible effect on the ecology of the planet. There is no doubt that urgent action must be taken to save our environment from possible disaster.                        (282 words)
 On the basis of your reading of the passage answer the following questions by completing the following statements: 
Green packaging needs to be discouraged as it…………………………………………………………….. . 


The growing concern of the countries currently is…………………………………………………………. . 


Recyclable implies……………………………………………………………………………………………………….. . 


Landfill means………………………………………………………………………………………………………… . 


More income leads to more is the waste because……………………………………………………. . 


